10H4H (=HH)

AJ—RK(U8) Bd—K~(U8)
1 9:00 KANNAMI VS Y514 X =1l 1 9:00 . VS FCHFER Z=AA
2 9:20 B3] VS FCITO Al 2 9:20 KANNAMI VS FCP®R =l
3 9:40 Y54 X VS FCITO =1l 3 9:40 p N VS K Z=AA
4 10:00 KANNAMI VS FCITO = 4 10:00 BE VS FCP®R =l
5 10:20 Y54 X VS Kz =1l 5 10:20 KANNAMI VS K Z=AA
6 10:40 Kz VS FCITO Zfl 6 10:40 54X VS FCP®R =l
7 11:00 KANNAMI VS Kz =l 7 11:00 g VS 514X =
AJ—K(U10) BI—K(U10)
1 13:00 SSEFE=E VS X 1l 1 13:00 A= VS 514X =
2 13:20 SSF= VS FCITO =1 2 13:15 REF=E VS KANNAMI =l
3 13:40 TS54X VS FCITO 1l 3 13:30 X VS XM= =
4 14:00 KANNAMI VS TFSA4X =1 4 13:45 SSFE=E VS RF=E =l
5 14:20 N VS KANNAMI 1l 5 14:00 X VS FCITO =
6 14:40 REF= VS Az =1 6 14:15 54X VS SSFE=E 1l
7 15:00 B[] VS REFE Al 7 14:30 KANNAMI VS FCITO =
8 15:20 SSEFE=E VS Az =1 8 14:45 FCITO VS RIFE 1l
9 15:40 TS4X VS BEE Al 9 15:00 KANNAMI VS SSFE= =
10 | 16:00 REF= VS HFT1X =1l 10 15:15 . VS FCITO Zfl




10A5H(HEH)

AJ—K(U9) BI—K(U9)
1 9:00 SSFE VS FCfP®R Z= {8 T 9:00 KANNAMI VS R ps
2 9:20 SSfFE VS Elra=] Z=fAl 2 9:20 EHEFC VS FCITO Z={A)
3 9:40 R VS mMFE Z= {8 3 9:40 KANNAMI VS FCfRER {8
4 |10:00 R VS FCITO Z={A) 4 110:00 SSfF= VS #HEFC Z={A)
5 |10:20 | KANNAMI VS FCITO Z= {8 5 |10:20 mFE VS FCfRER {8
6 | 10:40 HEFC VS KANNAMI Z={A) 6 | 10:40 R VS SStRg Z=fA)
7 | 11:00 HEFC VS FCfP®R Z {8 7 | 11:00 mFE VS FCITO Z={Al
8 | 11:20 SSfFg VS KANNAMI Z=fA) 8 | 11:20 mfFE VS HEFC Z=fA)
9 | 11:40 R VS FCfP®R Z {8 9 | 11:40 SSfFE VS FCITO Z={Al
10 | 12:00 HEFC VS R Z=fA) 10 | 12:00| KANNAMI VS mfRFE Z=fA)
AJ—~(U7)

1 13:00 FCITO VS R Z=fA

2 |[13:20| KANNAMI VS mMFE Z={A

3 | 13:40 FCITO VS KANNAMI Z=fA

4 14:00 Syt VS mfEE Al

5 | 14:20 FCITO VS mFE Z=fA

6 | 14:40 R VS KANNAMI Z={Al

7 15:00 TRMAEEF—LA VS TRM&EEF—L4 Z{8

8 15:20 TRM&EEF—LA VS TRM&EEF—L4 Z 1A




